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This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the Question Booklet at the time of
commencement of the examination. Check whether all the pages of the
Question Booklet are intact.

3. ISALERREBOT OMR HEPes (B850 R
OMR Sheet will be provided subject-wise separately.

4. % PHODE e 56 dsaren SRS, B DHOLE EEgEorr
@%&{Q)géo 5ORH08B.

This set of Question Booklets consists of three core subjects and each
subject has separate Question Booklet.
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5.

08 DAELRS 40 [HEOTDPS 88 (KPEHDPIZ0 Jngo 120 HEeo EORHE.

(i) Ked&o - WEPogys 1 ok 40 SE

(ii) :)ag:éé» - @%&éo&)é 41 200& 80 8%

(iii) DSoees edo - (HFDogy 81 2008 120 S8

40 questions are provided against each subject. This set of Question
Booklets contains 120 questions in all.

(i) Mathematics — Question Numbers 1 to 40

(i) Science — Question Numbers 41 to 80

(iii) Social Science — Question Numbers 81 to 120

o) WO S BB B3°graren T°000%. (98 BHDH a8 2ot bt
BRED HIENLO ARG, (D IBADD DATF RIS 28 S IR

Each question carries one mark. Answering all the questions is
compulsory and each correct answer will be awarded one mark. There will
be no negative marking for wrong answers.

58 e3tord Bdoohoes’,

D) WHD @G SETd.

) OMR JBoS D& (HEH VB VITETR) DB Treoid Jyzwen
AIEHD. Dergdien IBGD IBIFRZOD DO | S e Deonoed
DINE’ IBD 2.8 yzEdy SovE D& Jargd. AdoR JoIrgor &owd. &8
8 D& DD ST T ATBNETED. BPETGE. OMR Sgo 0
deroed Reden oo,

STTEED | [FHDNE0S” 20 H HHD ‘C7 IBADD IZCEEH0 S00IHE
OMR zsaren J180° (808 eS¢y o O / S0 2rddeon0ed

28" W& Johgod.
@F)Dog)y : 20) ® © O (a8 &orrdes SovEa)
O O O

2) OMR o S0 DESE. 2EIY 0¢ses eI, FOBIT° 98 B
i)w’?séqa)o aré?se“e.
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During the examination,

a) Read the questions carefully.

b) Completely darken / shade the relevant circle against Question
Number in the OMR Sheet using blue / black ball point pen. Do not

try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ @ @ ( This is an example only )
O O @ O
c) Do not fold, tear, wrinkle or staple on the OMR Sheet.
a8 E{)é&éo 2563 50&3 o)é)zyb bq)@‘_;e)é) a& 3?0?663&).)3 &P ééapﬁ" 2P0,
é?éoben a:boga)cf;@.

If more than one circle is shaded for a given question, such answer is

treated as wrong and no marks will be given.

Dog B KB ©B8 AZEr OMR SBES° asg@ads goos® Josso
3)021?23@.

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
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10. 2)6"56&))&) OMR &zren Sgo 18 D 98588 FW BT Qs KBX00E
20DER IEIS0.

Candidate should return the subject-wise answered OMR Sheet to the

Room Invigilator before leaving the examination hall.

11, %IRES” 9B 2eS° IS DoK5HS.

Rough work can be done in the space provided at the end of the Question

Booklet.

12. stenBety, 503@6 PR, @véega TS B [ess o)e)Ls;X)g $88oren HB8z° FFenH
29: 008032085

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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42.
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DB 1 WP
Subject : SCIENCE
o aBdS B8 BHD B8 OPoPY IEIOIH Teid (BN 0ren
BSg@Eeo0. TS SBALI SRV IS WHH a3wEI OMR &83
SBESE° DO / 30 &S 3005 DG’ HBAN FITTIS0HH Foah Babod :

40 x 1 = 40

Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer among them and shade the correct
option in the OMR Answer Sheet given to you with a black / blue ball point
pen. 40 x 1 =40
3)6535650533%09‘.‘9 D883 [H50°820 & esEPEIE AP0V HIBESH8L

(A) ey es:5Beotsd (B) g arestd

(C) Doy Joeetd (D) eSS g0

The device that works on the principle of electromagnetic induction is
(A) electric generator (B) electric heater

(C) electric motor (D) electric fan

30 Q DB EORN a8 Dy weny 08a 6 Q IEGHN DR TTER0
@3S 9V © ar?seoég AB0S® SIeDD DO 9:5000GPH80 DOHAEDD HeoHos
B5r03 g DS Wa~ro

AMM >
6Q 30Q
I N I
K
1| 1] 1] ® (o)—
gy = *

A) 4A (B) 36A
(C) 0.25A (D) 0.6 A
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43.

44.

An electric lamp whose resistance is 30 Q and a conductor

of 6 Q

resistance are connected in series to 9 V battery as shown in the figure.

The total current flowing in the circuit is

AMM—— R
6Q 30Q
I /N I
K
—1[1[1]} —@®- (s)—
oV =
(A) 4A (B) 36 A
(C) 0.25A (D) 0.6 A

DserH L5 259 2P e oD Fe DoTeE) se890. 18
(A) P08 HTHEH0 DoBO8 (B) Wrds88eroin 3085608

(C) @Dy Jeyesdd 8308 (D) @88 axd, farod

The inner wall of the solar cooker is painted black because this
(A) reflects light (B) converges solar radiations

(C) prevents from rusting (D) absorbs more heat

2)65355 a)el)ebe)eS6 DOD0LIO $03°88 &3BeR0D S0
(A)  S°50RdR (B) €00KI®

(€C) 35 (D) & aHo
The metal used in the filament of an electric bulb is

(A) manganese (B) tungsten

(C) nickel (D) chromium
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47.
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o°R GBoo¥) éqg BEBIR5°EY 080 9aHIm 0 oS B DE 08¢ 2)663235
D7) BE), VD0 &8 DFore H5°8re008
(A) Botd &858 (B) &8 <506t 258

(C) Do e 2538 (D) @0ty 2.8 SN 2,538

A rectangular coil of copper wire is rotated in a magnetic field. The
direction of the induced current changes once in each

(A) two revolutions (B) one revolution

(C) half revolution (D) one-fourth revolution
a8 Beoso 031356 vwéoééo + 0°50 m oI Beoso (ﬁ)&éb anmgém
S08an 85500

(A) + 2°0 D S08an $02°5°8 Eeoso
(B) + 2°0 D 08050 Hersed Seoso
(C) —2-0 D 08050 HeFrses Eeoso

(D) —2°0 D 08a80 02758 Seo8o

The focal length of a lens is + 0.50 m. The power of the lens and type are
(A) + 2.0 D and convex lens

(B) + 2.0 D and concave lens

(C) -2.0D and concave lens

(D) —2.0 D and convex lens

DiBog® DS DE°PZ0R JIENH &HATROD I3

() & etd (B)  esyensd

(C) mregSaoetd (D) BG3IRRed

A device used to change the resistance in the electric circuit is
(A) voltmeter (B) ammeter

(C) galvanometer (D) rheostat
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48.

49.

2.& dron& cﬁnébeSﬁZsé') K06 9008 20BN, HDSTC08E DB B S
€5067°000. 5°8£00 DTG S5O Ko eahHros Fieo

(A) @eﬁéoé Q8o &oenos

(B) EES0™ &oenod

(C) Kné& (0) ®ow &oenod

(D) DS F0 0D )G &otod

The magnetic field lines inside a solenoid are in the form of parallel
straight lines. The reason for this is, the magnetic field inside the solenoid
is

(A) very high

(B) wuniform

(C) =zero

(D) produced by electric current
28 NI Hogrsey Seoso Heedwed) Fp H08osw éﬁéo@m 0 o S0y
SODIHED beso)a D023 Bo0¥) DgaSB3N B HBZTEIHD

(A)  Doigs, Dertd 560K DFB

(B) e, so8othen o8akw DB
(€ i, Sodoen B0 DB
(D) Qes, Bo8oten $o8akw YA

The nature and the size of the image formed when an object is kept
between the principal focus F1 and optical centre O of a convex lens are

(A) virtual, erect and enlarged
(B) real, inverted and small size
(C) wvirtual, inverted and small size

(D) real, inverted and enlarged
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52.
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DBy HIZD Ao @E FEM $°By HBEBHL
() Dog® BIBEI (B) &8 03500

(C) ergend (D) DBog® vetd

The device that converts electrical energy into mechanical energy is
(A) electric generator (B) solar cell

(C) dry cell (D) electric motor
‘80’ 0038 BIBE), SI (A0

(A)  Dedgd &3R0S B (B) 85500

(C) Doy W= (D) DBFTBEIN

‘Ohm’ is the SI unit of
(A) electric potential difference (B) resistance

(C) electric current (D) electric charge

808 5e3530 Modosok.

Seeg Srggsao 31885555 DearoES
P 1'52
0 1-44
R 2:42
S 1-33

I\ Slags 2853006 5708 DKo 98508 JEYSITT &oe0B ?

A) ©Q (B) P
€ S (D) R
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53.

Observe the following table :

Material medium Refractive index
P 1.52
Q 1.44
R 2.42
S 1.33

In which material medium the speed of light is very high ?
A ©Q (B) P

(SIS D) R
S0 (e9ew) Degd oS58, 8 Sureo

(A) Bo|ss DM 385
(B) oHo|&Hes :)::bggs BoLEd (FPeoSBYS)
(C) &R ooy S8

(D) BosE Do¥ew St

The source of energy in nuclear power reactor is
(A) nuclear fission reaction

(B) controlled nuclear fission chain reaction
(C) exothermic reaction

(D) nuclear fusion reaction
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55.

&5 808 Te3S° Hr0875°8 6280 GBNY) &8 ©EE0

(A)
(B)
(C)
(D)

One property of a convex lens among the following is that, it

(A)
(B)
(€)
(D)

83-L/E (RF/RR/PF/PR/NSR/NSPR)

5708 88esrorn D30 B5BOS

©0WOBE 0BT &od, ;i)(éesay’ﬁoeS‘s DOV &0os
Des 50800 e (KBD02B008 L)eso)cs@oa
0WDOIG SOOI &od, é)qﬁéa,wﬁoés 0050 G008

diverges the light rays
is thicker at the edges and thinner at the middle

forms real and erect image

is thinner at the edges and thicker at the middle

e3rey 8o Fores’ SEBOIIDE  oDeTed B 5639 536503653
‘éﬁ)&ééb&d

(A) @wéé’bi)omo &55y¢

(B)

(€)

(D)

5250 €58y
085 Qﬁg(b(ifo

A8&0D0 6:93‘3(‘23.)

A compound that reacts with both acids as well as bases to produce salts

and water is

(A)

(B)

(€)

(D)

aluminium oxide

copper oxide

iron oxide

sodium oxide
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56.

57.

@rRegS Govg), Doyes Ao
H H H

(A) H—é—é—é—OH (B)
HOH B
H H H

(€) H_(::_(Ilz_ézo (D)
H H

The structural formula of propanal is

H H H
(A) H—(I:—(I:—é:—OH (B)
HOHOH
H H H
(©) H—(If—él)—!::() (D)
H H

“BrOSTO  OFETED T IEIICE0D0)y
DODHTD) HEIBODITD

()  Socgeorol (B)

(C) EaB3% (D)

H H o

H H

H—C—C—C—H
o
H O H

H H 0

H H

I
H—C—-C—-—C—H
[
H O H

GBE), e5YIADH  (HR00Te” @

05D

TR

“Properties of elements are a periodic function of their atomic number.”

This law was proposed by
(A) Newlands (B)

(C) Dobereiner (D)

Mendeleev

Henry Moseley

12 of 24



58.

59.

83-L/E (RF/RR/PF/PR/NSR/NSPR)
&8 Lgo& Br0NE ééééo K0D0<306.
Fe + CuSO4 - FeSO4+ Cu

Zn + FeSO4—> ZnSO4+ Fe

D 38506 Ko S SoegRes GY) @58 e 18300

(A) Zn > Fe > Cu (B) Fe>Cu>Zn
(C) Zn > Cu > Fe (D) Cu>Fe>Zn

Observe the following chemical reactions :

Fe + CuSO4 - FeSO4+ Cu

Zn + FeSO4—> ZnSO4+ Fe

The decreasing order of reactivity of the metals in the above reactions is
(A) Zn > Fe > Cu (B) Fe >Cu>Zn

(C) Zn > Cu > Fe (D) Cu>Fe>Zn

28 Soreso o?wéb K)éé?samogoé 20 @900IDED BEOIE 88D éeg’éé‘s o°

ﬁnéb%BO&& K)ogp?s
(A) 2 (B) 8
C) 4 (D) 3

The atomic number of an element is 20. In the modern periodic table, this

element belongs to the period
A) 2 (B) 8
) 4 (D) 3
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60.

61.

62.

2.8 B0 e X)Ul’éeaoéﬁ 0050 3080350 BR0Gre B0y HEIST
(A) 3 50805 9 (B) 9 $080%» 3

(C) 6508050 6 (D) 7 508050 5

The numbers of single bonds and double bonds present in a structure of

benzene molecule respectively are
(A) 3 and 9 (B) 9and 3

(C) 6and6 (D) 7 and 5
Gabo soIew, e ?@85385 53008 HoGHo BoBIHE DS
P30

(A) ?62)5—§—&9§3¢é3 (B) @@S%S-@-eeibcu

(C) &m0 (D) §8d

The gas liberated when sodium carbonate reacts with dilute hydrochloric

acid is
(A) carbon dioxide (B) nitrogen dioxide
(C) hydrogen (D) chlorine

DOVED Dees TAN0D (CNG ) &° Ko [H5ed eo¥o
() 20583 (B) &83®
(C) B D) @55

The major component of compressed natural gas is
(A) butane (B) ethane

(C) methane (D) propane
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64.

65.

83-L/E (RF/RR/PF/PR/NSR/NSPR)
D é)eoéfoséo AT} @&)&i)?? 850"’3!) 50‘"90
(A)  BoR)D Bey (B) G DS

(C) &S0 E"Syh [BPea0 (D) e388 80
The substance that converts blue litmus paper into red colour is
(A) lime water (B) pure water

(C) sodium hydroxide solution (D) gastric juice

S RSyt S0EPITON TESDB0Y) BT BIENE EIBTROD

D0
(A)  esy¥8e0 (B) #g0 (8°Qoh)
(C) EoHEBes0 (D) D& DFxes (ove)L‘s;jé’)?os)

The process used to convert sulphide ores of metals into their oxides is
(A) calcination (B) roasting

(C) reduction (D) electrolysis
2r8)® BBakn PETTBYS eendTwo
(A) CgHg (B) CgHyy

©) CoHy, D) CoHyg

The common molecular formula of both hexene and cyclohexane is

(A) C.H, B) C.Hy,

©) CoHy, D) CoHyg
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66.

67.

68.

K08 e300 (E08EHoL) Ko 29983 8zre S0e3 X)c"és'reés o 390
(A) &S’ eso (B) €559 esipo

(C) 38 esdno (D) 588 essyo

An acid present in the stinging hair of nettle plant leaves is

(A) methanoic acid (B) oxalic acid

(C) citric acid (D) lactic acid

2990 ¥8508° SBNIrE@en, @935 HBan EHE SOLHSODEARD
DoHo@0od FEYH

(A)  BDE’S (B) e35OS
[ALeW)
(C) addS (D) @o°8y®
The hormone that regulates carbohydrate, protein and fat metabolism in
the human body is
(A) Testosterone (B) Adrenaline

(C) Insulin (D) Thyroxin

B0eBEREN) DBT KO DoED 2.8 VLS KBS GoTH. 2.8 JerHEY) E°FEI
BDED %088 hlelay ?3&55@»@ GOTD. woke B FETren JeorHED
L§°5°°S§ ?_{))é) Sordeeon, 38

(A)  ERr0DIE I8 (B) 66358 2903850 (5°08 90I850)
(C) K)ti)@"csf‘é) 2850 (D) e H850
A pot that has growing seedling is kept in a dark room. A burning candle is

placed near it for a few days. The top part of the seedling bends towards

the light of burning candle. This is
(A) Chemotropism (B) Phototropism

(C) Geotropism (D) Hydrotropism
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69.

70.

(A)
(B)
(C)

(D)

83-L/E (RF/RR/PF/PR/NSR/NSPR)

25 3% §D§ OS50 SE D0eadBn Do étb"’%"@é) 0000V 689_336
3°?S&7°§é8530

583806 Deeson 965188580 Botsran

DB DgIPS"D DY LITHOLH T EOAIz0

DG aaﬁasragqpoeSGX) JFIZ°EE BRrQDT°O DroLIsd ea@éofbm_ooa

FeforsteleloN éqgvoo BCSTYore okdHE0n

The correct statement with respect to biodegradable substances among the

following is these substances

(A)
(B)
(€)

(D)

undergo recycling naturally in the environment

harm various organisms in the ecosystem

increase the density of harmful chemicals in different trophic levels

remain inert in the environment for a long time

D)OS” BoRE S0z )8 $8S” E52E HBAD S¥en

()  DTKBOIG)0, POBEBe0, DSI0, @0 (DoGHWD)

(B)
(€)

(D)

B0, @res0, Ho85580, émﬁéobébo
@I°e90, B0, DT HBOIG)0, HO855e0

?.’)U"K‘{)obébo, H085580, (@90, JeH0

The correct sequence found in the process of sexual reproduction in a

flower is

(A) pollination, fertilization, seed, embryo
(B) seed, embryo, fertilization, pollination
(C) embryo, seed, pollination, fertilization
(D) pollination, fertilization, embryo, seed

17 of 24



83-L/E (RF/RR/PF/PR/NSR/NSPR)

71.

72.

73.

mméé Baren, D5 G0, BBIVE ISR DoHo@owHensde oK Sbéﬁoée.%:d)
anca)@%mmam 09058, B GrSes

(A) Qoe8Ses (B) &S0

(C) HIB DI Ko (D) DI &g

Saving electricity by switching off unnecessary work of lights and fans is
an example of

(A) refuse (B) reduce

(C) reuse (D) repurpose

HoEEEd e SIND dFren EORI ( RRyy ) 2ered 3oy, dwockden SORS
DY Bord (YY) dgared EORN wered Joges Jos¥eo JISHE F
POBSES” &e5y8 ey DBToe

(A)  HOEES &% 353D Bord Dmee
(B)  Soochresen DR S0 BorHd Jebaren
(C) 1D0Eed D0DHB0rH Deheen

(D) Soocoden EORI esBSD Sotd dgmren

If a round green seeded pea plant [ RRyy | is crossed with wrinkled yellow
seeded pea plant [ rrYY |, the seeds produced in F1 generation are

(A) round and green seeds (B) wrinkled and yellow seeds
(C) round and yellow seeds (D) wrinkled and green seeds
QT E3Ra1g @O0

() 28 8ED Do) 8O God, 28 DFD 5°0°5) N8Rz
(B) 28 85308 Joyead) 8O &0d IBgth 520500 DB B0

(C) Bgth 8570 Aoz SOR God a885R0N 570750y ABBR=0w
(D) 3B Doy e SR, 3B o5 DB BRrON
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75.

76.
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Homologous organs

(A) have same structure and perform same function

(B) have same structure and perform different functions
(C) have different structures and perform same function

(D) have different structures and perform different functions

2099 850 mébeai)& PTTPOR0G 62?0& KD0GRE BEITPDOL0 BEI°oe e

A)  Godoen (B) 85S¥ro5en
(C) DDDESod0en (D) DS

The blood vessels that carry blood from all parts of the human body to the

heart are
(A) arteries (B) capillaries
(C) pulmonary arteries (D) veins

&5 80 TgT° O BHEID VeI DdGRrow
(A) wasgégém (B) 8Yeszssg Do 8o

(C) =BgRIEH (D) JT°TEO FT 0BEE0

Plants can get rid of excess of water by this process
(A) Transpiration (B) Photosynthesis

(C) Respiration (D) Translocation
Bot TrEEesre So¢ss 0k 2°® 200

(A) @oGew (B) esoyd
(C) g (D) Eeard0

The gap between two neurons is
(A) dendrite (B) axon

(C) synapse (D) cell body

19 of 24



83-L/E (RF/RR/PF/PR/NSR/NSPR)

77. Do&dn S5 grsedw B35 Ktﬁaomo& 850 ©°qT° DEAEB P00
AIBADIEL g3eio

(A) oS0 (B) eo&rs00

(@)} NU‘D-‘éoli)o (D) a0

The embryo gets nutrition from the mother’s blood with the help of a
special part called

(A) Fallopian tube (B) Ovary

(C) Uterus (D) Placenta

78.  DBOS” JgEeTen BoKN BOrEH0 Botr® 28 TP¥0 TrgT° DdGoSerseron
(A)  Soores é’)bg?& oedo (B) Sorgsordo
(C) dgo (D) SorE@rEoo
The common passage for both sperms and urine in human male
reproductive system is
(A) Urethra (B) Ureter

(C) Vas deferens (D) Urinary bladder

79. &5 808 5508 BOVOBEET TS $00FoIHE 528 A8 2
(A)  ©o88erd) HBR H8os
(B) & e5D85°5r0¢080
(C) &de P&58)88 e EeanHT 00

(D) BEHeDH B ©oBos
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Which of the following is NOT the advantage of water harvesting
structures ?

(A) Recharge the ground water

(B) Water does not evaporate

(C) Provide breeding grounds for mosquitoes

(D) Provide moisture for vegetation
28 23D 83 VIO ETTOND S00ESTOTEE 908000 Dev oK.

5°8£90, €99
(A)  eod0BaD oFssren (B) 2083 oFgaen
(C) Kete oFsren (D) csxﬁz)e) OFETO

The experiences of an individual during its lifetime cannot be passed on to

its progeny because, they are
(A) inherited traits (B) acquired traits

(C) dominant traits (D) recessive traits
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(D BI87%0)
( SPACE FOR ROUGH WORK )
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(D BI87%0)
( SPACE FOR ROUGH WORK )
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